Multiplication and .__. _1 _____

Division g [ workshEET 3)

Question1 [80x(15+5)x2=__
e 240
e 360
e 480

e 800
Question 2 [(16 +8) x (40 + 5) =

e 12
e 16
o 22

o 26
Question 3 | What should be multiplied to 25 to make it the small-
est 3-digit number?

o 4
e 3
o 2
e 3
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Question 4 | If each box holds 6 eggs, how many eggs will there be
in 12 boxes?

o 24 R ()
e 36
o 72 "‘
e 96
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Question 5 | A factory produces 15 cars each day. How many cars
will it produce in the month of August?

e 450
e 420
e 435

e 465

Question 6 | Four times the successor of the largest 2-digit number
is

e 999
e 100
e 396

e 400
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Question 7

144 toffees have to be filled in a dozen packets equally.
How many chocolates will be there in each packet?

I',

o 12
e 20
o 18
e 16

Question 8

There are 105 pages in a storybook. A boy reads 15
pages daily. In how many days will he complete the
book?
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Question 9

How much is equal to 15 times the quotient when 14
is divided by 77

e 15
o 45
e 30
e 60

Question 10

What is the product of the largest 2-digit number and
its successor?

9990
9999
9900
9000
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Answers

) Theme Multiplication and Division
/ Answer 1 480

Answer 2 16

Answer 3 4
3 Answer 4 72

Answer 5 465

Answer 6 400

Answer 7 12

Answer 8 7

Answer 9 30

Answer 10 9900
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